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INSTRUCTIONS: 
1. The total marks of the questions are 25. 
2. Candidates may attempt for all 25 marks. 
3. Before attempting the question paper, be sure that you have got the correct question paper. 
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    CO BL 
Q1 (a) What does it mean by economic equivalence? [2] CO1 BL2 
Q1 (b) A company planned Rs. 20,00,000 investment in 2012, which is a present worth 

in the year 2012 of anticipated phase wise investments during the next 4 years 
from 2013 to 2016. Assume the amount planned for 2013 is Rs. 10,00,000 with 
constant decrease of Rs. 2,50,000 each year thereafter. Does the planned 
decreasing investment series equal the announced Rs. 20,00,000 in 2012 using 
time value of money worth 10%?  

[3] CO1 BL4 

      

Q2 (a) Differentiate between mutually exclusive alternatives and independent 
projects?   

[2] CO1 BL2 

Q2 (b) An electronic part manufacturing company must choose one of two different 
assembly methods. Method A will cost Rs. 80,000 to buy and will have an 
annual operating cost of Rs. 6,000 over its 4-year service life. Method B will 
cost Rs. 1,30,000 initially with an annual operating cost of Rs. 4,000 over its 
8-year life. Methods A will have no salvage value, but method B will have some 
equipment worth an estimated Rs. 12,000. Which method should be selected 
if the alternatives are exclusive? Use present worth at an interest rate of 15% 
per year.    

[3] CO1 BL4 

      

Q3 (a) How do you perform replacement analysis? [2] CO2 BL3 
 (b) Machine A has remaining service life of 2 years and its current market value is 

Rs. 3,000. While a new automatic machine B costs Rs. 12,000 has a life of 5 
years. Operating cost for machine A is Rs. 4,000 per year, while that of 
machine B is Rs. 2,000 only. Perform a replacement study by cconsidering 15% 
interest rate. 

[3] CO2 BL4 

      

Q4 (a) Explain sinking fund method of calculating depreciation. [2] CO2 BL2 
 (b) The purchase cost of an equipment is Rs. 40,000. It has useful life of 5 years. 

The salvage value at the end of useful life is Rs. 2,000. Calculate the annual 
depreciation and book value of the equipment at the end of 4th year using 
sum-of-years-digits method.                                                     

[3] CO2 BL3 

      

Q5 (a) Differentiate between explicit cost and implicit cost. [2] CO4 BL2 
Q5 (b) Explain with example: Sunk cost, Out-of-pocket cost, and Opportunity cost. [3] CO4 BL2 
 
[Data for Q2 & Q3]       Discrete Cash Flow: Compound Interest Factors (at interest rate 15%) 
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